



Nombre: \_\_\_\_\_

Fecha: \_\_\_\_\_ Puntuación: \_\_\_\_\_

$$\left(\frac{1}{3}\right)^2 + \left(-\frac{3}{5}\right) =$$

$$\left(\frac{1}{2}\right)^{(-1)} - \left(-\frac{1}{6}\right) =$$

$$\left(\frac{1}{6}\right)^{(-2)} + \frac{2}{5} =$$

$$\left(-\frac{1}{3}\right)^0 - \left(-\frac{3}{5}\right) =$$

$$\left(\frac{1}{2}\right)^0 - \frac{1}{6} =$$

$$\left(\frac{1}{3}\right)^{(-1)} - \frac{1}{6} =$$

$$\left(\frac{1}{6}\right)^{(-1)} - \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{2}\right)^{(-1)} + \frac{1}{2} =$$

$$\left(\frac{1}{2}\right)^{(-2)} + \frac{1}{2} =$$

$$\left(\frac{1}{4}\right)^2 + \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{3}{5}\right)^{(-1)} - \left(-\frac{1}{4}\right) =$$

$$\left(\frac{3}{4}\right)^{(-1)} - \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{3}{4}\right)^2 - \frac{1}{2} =$$

$$\left(\frac{1}{2}\right)^{(-2)} - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{2}\right)^{(-2)} - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{3}{5}\right)^{(-1)} + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{3}{4}\right)^{(-2)} + \left(-\frac{1}{6}\right) =$$

$$\left(\frac{1}{4}\right)^2 - \frac{3}{5} =$$

$$\left(\frac{1}{3}\right)^2 - \frac{1}{4} =$$

$$\left(-\frac{1}{6}\right)^0 + \left(-\frac{1}{2}\right) =$$



Nombre: \_\_\_\_\_

Fecha: \_\_\_\_\_ Puntuación: \_\_\_\_\_

$$\left(\frac{1}{3}\right)^2 + \left(-\frac{3}{5}\right) = \left(-\frac{22}{45}\right)$$

$$\left(\frac{1}{2}\right)^{(-1)} - \left(-\frac{1}{6}\right) = \frac{13}{6} = 2\frac{1}{6}$$

$$\left(\frac{1}{6}\right)^{(-2)} + \frac{2}{5} = \frac{182}{5} = 36\frac{2}{5}$$

$$\left(-\frac{1}{3}\right)^0 - \left(-\frac{3}{5}\right) = \frac{8}{5} = 1\frac{3}{5}$$

$$\left(\frac{1}{2}\right)^0 - \frac{1}{6} = \frac{5}{6}$$

$$\left(\frac{1}{3}\right)^{(-1)} - \frac{1}{6} = \frac{17}{6} = 2\frac{5}{6}$$

$$\left(\frac{1}{6}\right)^{(-1)} - \left(-\frac{3}{4}\right) = \frac{27}{4} = 6\frac{3}{4}$$

$$\left(-\frac{1}{2}\right)^{(-1)} + \frac{1}{2} = \left(-\frac{3}{2}\right) = \left(-1\frac{1}{2}\right)$$

$$\left(\frac{1}{2}\right)^{(-2)} + \frac{1}{2} = \frac{9}{2} = 4\frac{1}{2}$$

$$\left(\frac{1}{4}\right)^2 + \left(-\frac{1}{5}\right) = \left(-\frac{11}{80}\right)$$

$$\left(-\frac{3}{5}\right)^{(-1)} - \left(-\frac{1}{4}\right) = \left(-\frac{17}{12}\right) = \left(-1\frac{5}{12}\right)$$

$$\left(\frac{3}{4}\right)^{(-1)} - \left(-\frac{3}{4}\right) = \frac{25}{12} = 2\frac{1}{12}$$

$$\left(-\frac{3}{4}\right)^2 - \frac{1}{2} = \frac{1}{16}$$

$$\left(\frac{1}{2}\right)^{(-2)} - \left(-\frac{1}{2}\right) = \frac{9}{2} = 4\frac{1}{2}$$

$$\left(-\frac{1}{2}\right)^{(-2)} - \left(-\frac{1}{2}\right) = \frac{9}{2} = 4\frac{1}{2}$$

$$\left(-\frac{3}{5}\right)^{(-1)} + \left(-\frac{1}{2}\right) = \left(-\frac{13}{6}\right) = \left(-2\frac{1}{6}\right)$$

$$\left(\frac{3}{4}\right)^{(-2)} + \left(-\frac{1}{6}\right) = \frac{29}{18} = 1\frac{11}{18}$$

$$\left(\frac{1}{4}\right)^2 - \frac{3}{5} = \left(-\frac{43}{80}\right)$$

$$\left(\frac{1}{3}\right)^2 - \frac{1}{4} = \left(-\frac{5}{36}\right)$$

$$\left(-\frac{1}{6}\right)^0 + \left(-\frac{1}{2}\right) = \frac{1}{2}$$